D/ s el 3
—_—— I':;II |I
1 !
1 L
T —

ALy wb=b T IF Y
51, Thw {17 3m) ";ﬂ
[ s
= i —

BALry b TIF T,
49, kw (12, Jm)

) - —Y — 1R R OO ()
- AL ve=bE YT IT I
_ﬁ—[ I 42, Jkw (12, Jm)
!
E¥ﬁ¥ i n /

r—

L\ =
ﬁm\ m-ﬁym ‘
—E )L\ " 80wz m

I’J \ |
4 R 4 RIBET. Ok (12, On) ~ 100 5 r,’ \

1\

Hn\

BRIV - buTTIT | \"l. \
P s £ o dk w T
074 56 skn (17 30 # A W8 8 1044kn (16, On) |
\ -

-—
—————— e ———
o

L 7N
T\ wmeisms &/ |

] =

. HIS -
T} 1

11 ! 5 H T _——ﬂ ___Q_-——— .'
K\ osHwFull - . |

i \ - =1 I | 1

(T bR W)
III,"F

n TEHRAEs
m fEFEEBHSASY
m R
0 25 S50m
T YT b ——

5-2-6

122



0.4

A

A

1.0 7/

CONCAWE

A
0.0855

0.4 /
Briggs

0.979

(m)
(m)
(m)
(J/s)
(n/s)

(1.293=<10 g/m )
(1.0056 J/(K 9))
(m /s)

0.5 0.9 /
2 / CONCAWE
0.7 /

0.003 0.010( /m)

123

15



27 4 1 28 3 31 1

16 5-2-12
1,044 .0kw 0 24 174 .0kW 8 22
1 24 9 22
5-2-7
5-2-12

0.4 0.5 09 | 1.0 19| 2.0 29 | 3.0 3.9 | 4.0 59 | 6.0

0.7 1.5 2.5 3.5 5.0 7.0

) KRR, HEEEZRL, ZORT—IlE
WM 2. 5m/s%, S 5. 0m/ s BRd,

4. 0-5 9

AR (m/s)

FEEE= 2. O0m/s FHEE= 2. 2m/s
F—4¥= 8781 F—a¥= 5121
A - VA
WA k2 TEAH 1 H~TR2 8E3A3 1H

5-2-7

124



5-2-13

/
m/s
(=19 ) m/s
5-2-13
0.150 | 0.225 | 0.300 | 0.375 | 0.375 | 0.450
12
27 4 28 3 31
1,044.0k0 0 24 174.0k0 8 22
24 9 22 5-2-14
5-2-8
5-2-14
TYKI/n?
060 T | 030 T G 10)
T 0.60 0.30 0.15 | 21 T1 (g 10 G Nl © o
EE
3 u 4
4 u 6
12

125




HBUEE (%)

HBUIE (%)

124K

NN\

SO\ §§ S BN : §§ §§ N\ BN §§

AB B BC

9220

_
_

e

A AB B BC E F G

Mg : R NEAR
R - A2 TE4H 1 H~FR2 843H3 1 H

5-2-8

27
0.023ppm
0.022mg/ °®

126



5-2-15

5-2-9
0.00072ppm
98 0.039ppm
(ppm) (ppm) 98
(ppm) (ppm)
(ppm)
= + )
1
0.04 0.06
0.00072 0.023 0.02372 | 0.0188 0.039 ppm

127

27




